0.1628t 1# 9.06mg/ms
44h 2# 8.6



Ke TNV HETS 3L — B BUR A 5 Pr R BOR AR A R (8) -

w ‘”“ ~ S =

0.1518t 1# 9.06mg/msa
42h  2# 8.6mg/ms 17h  3#

8.06 mg/ms 29h

M =0.1518/0.65=0.2335t
Mai# =9.06x 23571x 42x 10°/0.65=0.0138t
Ma2# =8.6x 24355x 17x 10°/0.65= 0.0055t
M3# =8.06x 23725x 29x 10°/0.65=0.0085t

M +M =0.2335+0.0138+0.0055+ 0.0085+0=0.2613



Ke TNV HETS 3L — B BUR A 5 Pr R BOR AR A R (8) -

w ‘”“ ~ S =

0.1364t 1# 9.06mg/msa
45h  2# 8.6mg/ms 18h 3#

8.06 mg/ms 28h

M =0.1364/0.65=0.2098t
Mai# =9.06x 23571x 45x 10°/0.65=0.0148t
Ma2# =8.6x 24355x 18x 10°/0.65=0.0058
M3# =8.06x 23725x 28x 107/0.65=0.0082t

M +M =0.2098+0.0148+0.0058+ 0.0082+0=0.2387



